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2 

1 During Sports Fest, Alicia recorded a timing of 12.7 seconds for the 100 m sprint event. This 

number had been corrected to 1 decimal place. State the largest and smallest possible values 

of her actual timing recorded, assuming that the stopwatch can measure up to 3 decimal 

places. 2] 

3 

2 Without the use of a calculator, evaluate %[[2—2] +0.8}, leaving your answer as a 

fraction. 3] 
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3 (a) (i) Express 63 and 567 as product of prime factors. [2] 

(i) The HCF of 63, m and 567 is 21. Find the two smallest possible values of m.  [2] 

(ili) Write down the smallest positive value of a whole number 7 if 567n is a perfect 

cube. Express your answer in index notation. 1] 

(b) The numbers P and Q have an LCM of R. State the LCM of P and R. [1] 
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4  Mr Goh is planning a learning journey to a museum for a group of 238 students. The 

organiser charges $29.95 per student. Mr Goh budgeted $8 000 for the learning activity. 

(i) By approximating both the cost and the number of students, estimate the cost of the 

learning journey. Show your working clearly. [2] 

(i) Explain if Mr Goh has sufficient funds for this activity. 0] 

S Without the use of a calculator and given that g” =3k—ef , find the value of / when e = -7, 

f=15andg=-12. [3] 
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1.5(5x~7) 
-6 (a) Express =3(x-2)+ ’%x as a single fraction in its simplest form. [3] 

(b) Gold costs w cents per gram. Celina bought a gold necklace which costs x dollars. Write 

down an expression for the mass of the necklace in terms of w and x. 1] 

7 Factorise the following completely: 

(@) 15r°s-5pr 1] 

()  —2a(3c—5)+6b(3c—5) 2] 
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8 A fraction z is such that when 8 is added to the numerator, it becomes —;— . One fifth of the 
n 

sum of the numerator and denominator is 5. 

(i) Write down two equations relating m and ». [2] 

(ii) Solve the simultaneous equations in (i) by using either the substitution or elimination 

method and find the original fraction. [4] 

Raffles Girls’ School (Secondary) 2019 Year 1 Mathematics End of Year Assessment



7 

9 Anopen cylindrical container of radius 12 cm and height 20 cm is to be painted on its exterior 

surfaces. The cost of painting a surface of area 1 m? is $9.50. 

() Find the total surface area that needs to be painted. Leave your answer in terms of 7 .[2] 

(ii) Calculate the cost of painting 15 such containers, leaving your answer to the nearest 

cent. [31 

10 A polygon has n sides. Three of its interior angles are 84°, 126° and 150°. The remaining 

(n - 3) angles have an average size of 120° each. Find the value of ». 3] 
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11  The area of the shaded region is % of the whole circle, as shown in the diagram below. 

4 

()  Given that the area of the circle is 144m cm?, calculate the arc length of the minor arc 

AB, leaving your answer in terms of m. 3] 

(ii) The minor sector AOB is then cut and formed into a cone by joining the two radii, O4 

and OB, together. Calculate the radius of the base of the cone. [2] 
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12 The wooden block 4ABCDEFYV is made up of a rectangular-based pyramid and a triangular- 

based prism. 4BCD, ABFE and CDEF are rectangles with AB = 25 cm, DE = 19 cm. The 

vertical height of triangle ADE is 12 cm and the vertical height of the wooden block is 48 cm. 

Find the volume of the solid. 3] 

48 cm 
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13 In the figure, ABCD is a square and ABF is an isosceles triangle so that 4B = AF, AEC and 

DEF are straight lines . 

Given that LZEAF =22, 

() find LBFA. 31 

(i) show that AADF is an isosceles triangle, and hence find ZCDF (3] 

(iii) find Z4EF [2] 

State your reasons clearly. 
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14  Kevin bought a new car priced at $97 000. He is required to pay 20% of the selling price as 

the down payment. He takes a loan on the remaining amount from a bank which charges 

2.78% simple interest per annum. He plans to repay the loan over 5 years. 

(i) Show that his monthly payment is $1473.11, correct your answer to the nearest cents. 

[3] 
(ii) Hence, find the amount that Kevin needs to pay on the final month at the end of 5 years. 

(2] 
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15  Kelvin went jogging at a park. He first ran up a slope for 10 minutes, followed by jogging on 

flat ground which is 3 km long at a speed of 0.2 km/min before running down another slope 

for 8 minutes. 

The ratio of Kelvin’s speed while running up the slope, on the flat ground and down the slope 
is2:4:5. 

(i) Find Kelvin’s speed while going up the slope in kilometres per minute. [1] 

(i) Given that Kelvin rested for 2 minutes after going up the slope, find the average speed 

of his workout, in kilometres per minute, correct your answer to 2 decimal places.  [2] 

Raffles Girls’ School (Secondary) 2019 Year 1 Mathematics End of Year Assessment 

[Turn Over



14 

16  Katherine wants to invest $40 000 into a savings plan. The banker offers her 2 plans. 

Plan | Plan Summary 

A | Interest of 4% per annum compounded every 3 months over 2 years with 
$100 immediate cash voucher. 

B | Simple interest of 4.25% per annum over 2 years. 

Justify which plan should Katherine invest in. [4] 
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17 
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Number of taxi rides (in hundreds) 

The dot diagram shows the number of taxi rides taken by residents living in 32 regions in 
Singapore on a particular Tuesday. 

Each dot represents a region in Singapore and the number of taxi rides taken are rounded off 
to the nearest hundred. For example, the two dots on 10 represent two regions that had 1000 
taxi rides on that Tuesday. 

(a) How many regions have at least 700 taxi rides on that Tuesday? 1] 
(b) What is the percentage of regions where the number of taxi rides range from 400 to 800 

inclusively? 2] 
(¢) State a possible reason for the 2 regions to have zero taxi rides. [1] 
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Answer the whole of this question on a piece of graph paper 

18 (a) The taxi fare, $y, charged by Taxi Company A, for a journey is given by y=4+0.55x, 

where x is the distance travelled in km. Some corresponding values of x and y are given 

in the following table: 

X 2 12 20 

¥y 5.1 p 15 

(i) Find the value of p. [11 

(i) Using a scale of 1 cm to represent 2 units on the x-axis, and 1 cm to represent 1 

unit on the y-axis, draw the graph of y =4+0.55x for 0<x<24. [31 

(iii) Explain the significance of the number 4 in the given context. [1] 

(b) The charges of Taxi Company B can be modelled by the equation y=6+0.3x. 

(i) Explain what the number 0.3 means in the given context. [1] 

(ii) By adding another line on the same axes drawn in (a), find the solution to the 

simultaneous equations: [3] 

y=4+0.55x 

y=6+03x 

(iii) Use your graphs to advise your friend who wants to hire a taxi from one of these 

two companies. 1] 

--- End of Paper --- 
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